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Part- 1 (01-50)

1. Choose the correct option to complete the sentence.

The radio in 1948. As a result of this, both the size and the cost of electronic
equipment greatly reduced.

A) was invented / have been B) had been invented / has been

C) was invented / have had D) had invented / will be

2 . Pick an antonym for the word given from the options given below.

DISTRAUGHT
A) Crazy B) Shaken
C) Placid D) Unreasonable

3 . Choose the option that is a grammatically correct sentence.

A) The paintings of all the student at the B) Neither of the winner are present for the
event is notable. prize-giving ceremony.

C) | think almost everyone has arrived by D) Don't' you think both the sisters as well as
now. their brother am not here.

4 . Choose the option to fill in correct articles in the sentence.

As ___ network was not working, _____internet was down and all ____ students were
unable to complete their work.

A) a, a, the B) the, the, the

Q) an, the, the D) a, an, the

5 . Have you done your homework ___

A? B) .

Q! D);

6 . Choose the correct word from the options given to fill in the blank.

The was injured in the battle and had to be rushed to hospital immediately.
A) leirtenant B) leftenant
Q) lueitanant D) lieutenant
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7 . Choose the option that has a misspelled word.
A) Supermacy B) Seniority

C) Aristocracy D) Implications

8 . Choose the option that best fits the blank in the given sentence.

A forceful or energetic person is commonly known as a mic person.
A) dyna B) atom
Q) ultra D) self

9. Choose the correct option to complete the sentence.

British people are often polite. British people | know are very reserved.
A) No article, No article B) No article, The
C) The, The D) The, A

10 . Identify the type of sentence.
How could you have let such an opportunity slip

A) Imperative B) Exclamatory

C) Compound D) Complex

11 . AIpaUT T {dRH doic 2024-2025 fogm vd faan /
Who presented the interim Budget 2024-2025 in the Lok Sabha?

A) e 9IdRA / Nirmala Sitharaman B) 313U Sicdlt / Arun Jaitley
C) IS Rig / Rajnath Singh D) aTs. R/ . Sinha

12,2022 ¥ forg ufl/u 3 TR Sfea o @i g2 /
Which Company/Group has bought Air India in 20227

A) €Tl U / Tata Group B) SWIRIT / Infosys
@) 313Fﬁ‘£[q/Adani Group D) &rri%alﬁswgcr/ Aditya Birla Group

13 . Tfau™ & for Srfwse &I AN HRab faxiTd SMUTdTA BI BINUN Bt I Jhd! 67 /

Financial Emergency can be declared by invoking which article of the Constitution?

A) TG 128 / Article 128 B) 3Ja9G 378 / Article 378
C) 3fI®5¢ 256 / Article 256 D) 3 w56 360 / Article 360
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14 . I 3 B fog RIF T @1 fopar T ur? /

From which place Chandrayaan 3 was launched?

A) 3faiker Yo, IS / B) fashH ARTHTS 3faRe P, fava-iaqRd /
Antariksh Bhavan, Bengaluru Vikram Sarabhai Space Centre,
Thiruvananthapuram

C) T Yo 3fale dg, gl sy D) 1. 3fegd HATH gId, 3NfS2T/
u%sa/ Satish Dhawan Space Centre, Dr. Abdul Kalam Island, Odisha
Sriharikota, Andhra Pradesh

15 . FanTe & ufig e e & Aafar & 92 /

Who was the creator of the famous Rock Garden in Chandigarh?

A) ﬁaﬁgﬂﬁz/ Le Corbusier B) YYdf SIYPX / Pupul Jayakar

C) A%Tg / Nek Chand D) SaeR g Aidara /
Balbir Singh Seechewal

16 . ATHT T HBHTTH el fUd 87 / Where is the headquarters of NASA situated?

A) dTiRiTeH, S13T, gud / B) BaRI4IG, YR /
Washington, D.C,, US Hyderabad, India
C) farfafra, Yuy / Mississippi, US D) W HRd / Bengaluru, India

17 . Fefiiad & 3 HI9-3f ¢t fhdbe 4 Feiftra 87 /

Which of the following trophies is related to Cricket?

A) ToIg TMes &Y / Sanjay Gold Cup B) W?ﬁtﬁ/ Dhyan Chand Trophy
C) 3FT WM &Y / Aga Khan Cup D) @R SIh1 / Deodhar Trophy

18 . COVID-19 & JHY H YRd ! TG WP 3R fRMId &I UefRid & & e wieq
HATTT GRT 310 2020 A Y= T 7T AfSHR b1 A1 -1 412 /
What is the name of the webinar launched by the Ministry of Tourism from April 2020
for showcasing the rich culture and heritage of India in times of COVID-19?

A) &l YT ST / Dekho Apna India B) Gl 3T YRd / Dekho Apna Bharat
C) <! IhSIad Sf$an / D) &l SO G¥T /
Dekho Incredible India Dekho Apna Desh

19 . 3N e A WIS aRe 3R IRTss IS fooaq fergl? /

Who wrote Paradise Lost and Paradise Regained in English Literature?
A) 3{TEhR AT / Oscar Wilde B) S ffiee1 / John Milton
C) faferam —AFAUAR / William Shakespeare D) i< €41/ John Donne
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20 . fAafaRea & O ford S el & faer &1 99 faa oira 2 /

Who among the following is credited with development of Sanskrit grammar?
A) 3TIHE / Aryabhatta B) @ / Charak
C) BIfIGH / Kalidasa D) IO / Panini

21. 3 WEATE 2:3 & IATd H § 3R ST TYTH JHIAY 84 § | BICT TBHT A1 HIOT | /

Two numbers are in the ratio 2 : 3 and their L.C.M is 84. Identify the smaller number.
A) 28 B) 26
C) 24 D) 25

22 .U WA | S b1 AHIHT 460 J dgHR 485 Bl ST 8 | AHidw | ufawrd gfg #mg? /
The enrolment of students in a school increase from 460 to 485. What is the percent
increase in the enrolment?

A) 54.3% B) 5.43%
C) 6.43% D) 64.3%

23 . 989 &I IJUM 311, ITP TS B aadT 3 Bt et B 1 6 I Ugd, ITb HTS DI 31
IYD! T8 BT 3 DI A1 A 2| 87 BT IdA 3 fba 82 /
The present age of sister is half of the present age of her brother. 6 years ago, her
brother's age was thrice the age of his sister. What is the present age of the sister?

A)10<_1|Ef/10years B)123‘5f/12years
C)14E|'5f/14years D)16a15f/16years

24 . Sfid o a1 el 30 9 1 39 H 81 TS 2t SR 21l b i< A we IHebT ST H g1 Ul
IS o & JHT I AT Bt 3 frat 2ft, 3 3! A, I a1 9 4 af Bt g2 /

Jeevan's father was married when he was 30 and he was born three years after the
marriage. How old was her mother when he was born, if his mother is 4 years younger
than her father?

A) 25 B) 30
C) 26 D) 29

25 . gfe §H IR TBATE o, 4l Ugd oiF &7 3id 16 3R 3ifaw 9 &1 3iad 15 81 afe ugat
AT 19 %, ar GTI%I'J:[H@T% / If we take four numbers, the average of the first three is 16
and that of the last three is 15. If the first number is 19, then the last number is:

A) 18 B) 17
G 15 D) 16
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26 . %j@?ﬂﬁ 3T UG &1 8?2 / What is the next term in the series?
2, 4,16, 18, 324,

A) 424 B) 326
C) 426 D) 328

27 . 3 Sfed} B 3T S I BT 3R 10 98 21 Aieg I8 Ugd, SI I 9l I I, BT I ¥
@'ﬂ?ﬂ ot EI??[@'@[H%WBU% /The difference between the ages of two daughters is

10 years. Fourteen years ago, the elder one was twice as old as the younger one. The
present age of the elder daughter is:

A) 34 @Y / 34 years B) 32 @Y / 32 years
C) 30 3% / 30 years D) 28 A / 28 years

28 . <1a <t 718 QT & sl &1 U i a1 T § | JEINR e I & UgaH
PISTTI / The series given below contains a sequence of numbers. Accordingly identify
the INCORRECT number.

5, 6, 15, 45, 184
A) 6 B) 15

C) 45 D) 184

29 . I WA FADR YT Bl T Hifoid | /

Complete the series choosing the missing number.

6, 14, 30, 5
A) 60 B) 62
Q) 55 D) 65

30 . BT 3&R T 87 / Which is the missing alphabet?

D B
G E
K I
P N
vV ?
A) Q B) Z
OR D)T
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31. W 3H&R JTd DI | / Find the missing letter.

Q
E U K
| Y
A) O B)H
QP D) R

32 . 1T ot FAfRrd A ) 27 famt o qR1 R Wbl B 1 T, 11em / 50% 31 e 71 Al
aﬁﬁﬁﬁ%ﬁﬁﬁﬁﬁﬁqﬁﬁﬁ?/ Radha can do a work in 27 days. Sita is 50%

more efficient than Radha. The number of days Sita will take to do the same piece of

work is:
A) 17 B) 16
0) 15 D) 18

33 . W IS AR YA DI R DI |/
Complete the series choosing the missing number.
43, 39, 33, , 15, 3.

A) 28 B) 24
Q) 25 D) 30

34 . U%h HUST AR 33 Hiek HUST 9B 11 Hiex HUST BT ATH W Bl & | A1y g1/
A cloth merchant on selling 33 meters of cloth obtains a profit of 11 meters of cloth. The

profit is .
A) 40% B) 22%
C) 50% D) 11%

35 . U7 37U-T ATsfohd Bt WaRT Hd U 40 Ydhs | 200 Hiex &1 g8 g dra g | foedt ufd
He H P! Ird F1 87 / Gopal riding his bicycle covers 200 meters in 40 seconds. What
is his speed in km per hour?

A) 16 foHl/ ©eT /16 km/ hr B) 18 fpHl/ ©eT/ 18 km/ hr
C) 15 faHt/ 9eT/ 15 km/ hr D) 14 fopHit/ ©eT / 14 km/ hr
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36 . U TS HIS YT H, “ALPHABETS” PT Ieeid 2131792362120 & U H 4T STl 5|
SWR & 75 HIS HIWT H “NUMBER KEYS” PT I fobg &0 H g2 /
A certain code language mentions "ALPHABETS" is written as 2131792362120. What
does "NUMBER KEYS"” mention in the above code language?

A) 1522143619 1262620 B) 2215143619 1262620
C) 1262620 1522143619 D) 2215361419 1262620

379G = FT 3 "WTST' B, ' $' BT 3 " BT B, '€’ BT 3 " N&R 51" § 3R '’ P
3% " RIER" g, l FEfRad o 9 SH-91 fadbed A=15 3R B = 12 & R A@ 52 /
If *' denotes greater than, '$' denotes 'less than', ' €' denotes 'not equal to' and 'i’
denotes 'equal to', then which of the following option is TRUE for A=15 and B =127

A) AnB B) A*B
C) B*A D) ASB

38 . Fgfafad fRaw &1 sreas B3 SR Uy ST IR S|
e 9 2 1 7 3 3 6 4 8

*:;:F B YV ™M L D P A F R

T ; (1) afe ugan iR 3ifa 3 TH 8 Ot Sl I 3ifdH 3 & B gRT HifSd fovar S 8
0 : (2) TfS g SR 3ifaw 3i faww §, il SIFl B Ug 3ich & Pis GRI BISd fodT SITd
81 U%:- 2853456 & folU i J1d PIfSWI /

Study the following rule and answer the question.

Digit 9 2 1 7 3 3 3] 4 8

Code B V M L D P A F R

Condition: (1) If the first and last digit are even, both are coded by the code for last digit.
Condition: (2) If the first and last digit are odd, both are coded by the code for first digit.
Question: - Find the code for 2853456.

A) VRDPFDA B) ARDPFDA
C) AADPADA D) VRDPFDV

39 . BI-T Yoolt, T H affa afsral & Teifdia et 82
TSR, 3MT¢], CHICR, 3qr /
Which of the vegetable is NOT related to most of those mentioned in the group?
Carrot, Potato, Tomato, Ginger

A) CHICX / Tomato B) 31Ic] / Potato
C) 3faXd / Ginger D) e} / Carrot
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40 . = < 18 g # fan 7 T € T 3 2 3111 § afd dies 6 181 St g7 /

How many 7's are there which are preceded by 2 but NOT followed by 6 in the below
given series?
7276282781276345276

A) T / One B) &l / Two
C) T / Three D) IR / Four

41 . U st uferafirar & uie ufaufiay srorg, faeitg, 9d4, dud SR gAMEd 7 SigdA
360 3@ gIRYA fart | fareiiar iR =ae A fraR 1070 i 3ifvid fopu Safes 3AMEa = o
T 80 3 HH U P SR U 3 IAEA ¥ 50 3 e Ut forT | SHHNT BT R
HIT YT? / In a quiz competition, five participants Ajay, Bijoy, Chetan, Dipak, and Emanuel
score an average of 360 points. Bijoy and Chetan together score 1070 points while
Emanuel scores 80 points less than Ajay and Dipak scores 50 points more than Emanuel.
What was Emanuel's score?

A) 280 3idh / 280 points B) 240 3idh / 240 points
C) 220 3{® / 220 points D) 200 3{dh / 200 points

42 .6943217695443217695431223456978691769543
Sudad w0 H, T o 9 § 9 Sl Ugd 6 o1l & Afts i &g o 5 ¥ BT T 8l
3Tt 82 / In the above sequence, how many 9's are there preceded by 6 but NOT
succeeded by a number less than 57

A) 6 B) 5
Q4 D) 3

43 . gfe §id Hd T T e Uga AR AT df 3114 aTdt e b1 feT a1 gim? /

If day before yesterday was Tuesday, what will be the day tomorrow?

A) Y[hdIR / Friday B) I[®dIX / Thursday
C) dYdRR / Wednesday D) XfdaR / Sunday

44 . T x, WS F U R, =, gera & o g, +, oM & fau 8 3R -, "W & fAu g,
W-20x8+8-4+2= WWW%? / If x stands for 'addition’, + stands for
'subtraction’, + stands for 'multiplication’ and - stands for 'division’, then what is the
valueof -20x 8 + 8-4 + 2 =7

A) 80 B) 25
C) 24 D) 5
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45 . TH TSI H A 1 F 12 TF Pt TN BT A F L TP & 31eR) I gcd a1 Srdn g, Ui 1
BIAY, 2 DI B Y R T @G 12 Bl L ¥ 9ad fear 9 g, Ot Fafeiad & 9 -3 ofar
IS 3:10 3URTE & JHY DI =0T B2 /

In a clock, if the numbers 1 to 12 are replaced with alphabets A to L, that is 1 is replaced
with A, 2 by B and so on till 12 is replaced with L, then which of the following alphabet
combinations will denote the time 3:10 PM?

A) D-E B) C-B
C) C-K D) D-B

46 . H&Iﬁ%ﬂﬁ@ﬂ 3{&R DI T BITSTI / Find the missing letter in a sequence of letters.
JEMAMIJ LA

A)S B) M
Qo0 D) N

47 .U He= H TRUE, OPPOSITE 3R FALSE & HTT: PSAE, MQQMTJPE 3R IVMTE & &4
A pifsd o T 81 I FIS F YR TR ROAR HT HIS J1d BT /
In a message TRUE, OPPOSITE and FALSE is coded as PSAE, MQQMTIJPE and IVMTE
respectively. Based on this coding find the value of ROAR.

A) RMUR B) IVMS
C) MUSS D) SMVS

48 . 1§ 30 TTHY & e aTal 81d & Y STUd S1 SHTID] H& SResl ST Widd g1 3479

FT HAN? / Your boss assigns you some urgent tasks at the end of the day when you are
about to leave. What would you do?

A) STIISHAT & IR B A PRA DI B) I T b 3T 3 3Tl fad | /
T el | / Try to finish the job as per Tell him you will do it the next day
the requirement

@) B@WW%WW@TH%W% D)%Fﬂ'fh"[%{aﬁl / Give resignation
ﬁmﬁ?ﬂ / Tell him to find someone else
todoit

49 . TS $ T T THG BT I8 PITT Sl 3T J =T 81 /

Choose the number pair or group which is different from the others.
A)9:82 B) 16 : 257
C)8:63 D)4:17
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50 . U T BT &R, 3 W 6 34fH 71 afe 1 | 4 Sirs g Sme, ot et 3/4 g1 ot g 1 e
sn?rﬁ%lm / The denominator of a fraction exceeds the numerator by 6. If 4 be added
to both, the fraction becomes 3/4. Find the fraction.

A) 13/14 B) 15/17
C) 14/20 D) 14/18
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Part- 1l (51-150)

51 . &, THY SRTA 3IR SA1GRT & WP A&y DI G- 81 /

vibration depict clear association of time interval and frequency.

A) SIHT / Abnormal B) Wﬁ?ﬁ@ﬁ@m / Reciprocating
O Hﬁ%/ Periodic vibrations D) 23I'I€'i%_0|'7/ Random vibration

52 . T Ufehal (401 JUITeh Bl ¢ & GaTd ! FAfd = & for fewire fear mn 3
SfTaTfae a0 e & aR ¥ fgfaRed 8 9 &H-91 Hy g 87 /
A process control system is designed to control the pressure of a tank.
Which of the following statements about proportional control mode is TRUE?

A) 3 a0 A, Red s3ege &1 B) 3fuiiae HaFu Ars, Rew & RR-Rufa
Wﬁlﬁﬁ%%ﬂﬂﬁlﬁﬁmﬁ sﬁﬁwm%n / Proportional control
ITIRT HAT 81 / Proportional control mode reduces the steady-state error in
mode uses the accumulated error signal the system.
to adjust the system output.

C) MU a0 Hig, ReH & ala-l d D) ST 401 AT T SUTNT SRR
HH PRSP e RRAT B IgITharel/ =0 yomel # 3rbd far S g1/

Proportional control mode can increase Proportional control mode is often used
the system stability by damping the alone in a control system.
system's oscillations.

53 . YR ST YTRd & & oy Saiie! Ried & SHaR | g ST JaR Uieisrd &l
JURT a1 ST 87 / Which data communication protocol is commonly used in
telemetry systems to transmit sensor data?

A) SIEY / Bluetooth B) AISWTS / Wi-Fi

C) foTait / Zigbee D) HI8&d / Modbus

54 . s-lpl.@ fopT Hlﬂl&ﬁﬁww %"? / Which of these quantities have the same units?

A) ST 3y, 21 3R it / B) ST 3myf, Hrf 3R Fwif /
Moment of inertia, Torque, and Energy Moment of inertia, Work, and Energy

C) debeT 3regef, e, e SR ot / D) ST ST, eich, 3R ST 3imeuf /
Bending Moment, Torque, Work, and Bending Moment, Torque, and Moment of
Energy inertia
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55 . TATC AR SR T TigHiex & aR # fFafafad # 9 &H-9 o3 g 87 /

Which of the following statements is TRUE about smart sensors and smart transmitters?

A) ITE TR 3R W1E iaHieR T g1 il 1/ B) WIE HWR ARG T ¥ ST HIdd H=a
Smart sensors and smart transmitters are ﬁﬂ&lﬂaﬁ% WWWW
the same thing. TR R AR 814 |1/ Smart sensors are

capable of processing data internally,
while smart transmitters rely on an
external processor.

C) TE TIHieR H1 IUUNT dAIUHM, Ta1d R D) WIE AR 3R WE TR gl &l JeT
TaTE ol Y AR B AR & g TERd B F 17T AT e B
WW%WWWWW W@?ﬁ%l/Smansensorsand
INMfAE 3R Wfdew AMds! & Ao & smart transmitters both require a wired
ﬁmm\_ﬂm%l / Smart transmitters are connection to transmit data.
used for measuring physical quantities
such as temperature, pressure, and flow,
while smart sensors are used for
measuring chemical and biological
parameters.

56 . 3T3eqe H YAdH URad- oI SUeHRUl gRT H1AT 47 SRTd favat S Tevd §, B Y IR
WA 8: / The minimum change in output that can be measured or indicated by
the device is denoted by:

A) fagIS / Resolution B) XA / Linearity
C) TUTIdT / Accuracy D) THRISI / Offset

57 . Fa%1 @9e) SR ffr (3m3eye) & st Way &1 quid e arat sifiaefies urad o
W\_rﬂ?ﬂ%: / The measurement characteristic which describes the relation between
input and output is referred as:

A) T3 / Resolution B) TUTFAT / Accu racy
@) IRgpar / Linearity D) fAfspg 83[ / Dead Zone

58 . GITerll Uehd o fAwreT Ud = oq Ugad diuadt &t gfad e (Sasy disyd) &1
s’lila aﬁﬁlﬁl / Indicate the device module of PLC used to execute and control the PLC
program.

A) 1/0 HISJd / 1/0 Module B) STSaR HISJd / Driver Module
C) ¥dig / cpu D) UGl §hT5 (R G[-IC) / Storage Unit
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59 . Ueh UfshaT A=01 YUTTelt o1 Ruaex & arga & Hufd o= & fore fewrs= fear man g
A deld Ais & aR § Fefafea B @ oH-wr sy 9 82 /

A process control system is designed to control the temperature of a reactor.
Which of the following statements about integral control mode is TRUE?

A) SCHI dheld Hie, Ried 3{3cyce &l B) iU dheld A, ey o fRR-Ryfd Ffe
oA PR & IR R » uRadd dipaHRATR1/ Integral control mode
Pl R BT SN dRAT 5| / Integral control  reduces the steady-state error in the
mode uses the rate of change of the error  system.
signal to adjust the system output.

Q) A dheld A, RRcA d aIaHl dI HH D) S dheld HIS b1 ST HRR 700

PP ey RRAT &) 9¢1 Ihd1 g1 / JuITelt § 3l fpar S gl /

Integral control mode can increase the Integral control mode is often used alone

system stability by damping the system's in a control system.

oscillations.
60 . TR BT YHIBHU 0°C F 1100°C PI AT q BT ATIH |G Gl 5| /

type of thermocouple can measure temperatures in the range of 0°C to 1100°C.

A)K B) J
oOT D)E

_ Uiocr T o fore fasRid ugedt | ot /

was the first language developed for PLC Programming.
A) Rl @i s / Relay Logic Diagram B) TSX ST / Ladder Diagram

C) HISET SIUM / Module Diagram D) Tfaeft fd=mr 3R Ser siferrgur yomaht
(¥PTSI) / Supervisory Control and Data
Acquisition (SCADA)

62 . T T TR & IRATAD T 3R UG GEHE) SITYC Bl HbedI Bl &gl ol

81/ The closeness to the true value and instrument output of the measured variable is

called

A) TYTaT / accuracy B) tfh‘%],@_cﬂ / precision

C) XR@HT / linearity D) IR (Hae=iTad) / sensitivity

63 . T ufbaT I ___ o & oy SURT (SEgHETH) o TG b1 JUTNT bl STl &1 /
The collection of instrumentation isused to ___ a process.

A) ﬁ%ﬁm / dictate B) ®HIH / command

@) 3 / control D) Efﬁ / delete
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64 . BIc THTT TITSTIR H, &F B ardhd ot AT B ¢ offcl! ¢ | TiTegeR H ORd dlees UR &
YT TSTM? / In a hall effect transducer, the field strength is tripled. What will be impact
on the voltage induced in the transducer?

A) <9 AT 81 ST / Tripled B) ¥CaR 1/3 Bl ST / Reduced to 1/3
C) 9 T[T dh de SITUTT / Increased to 9 times D) PIs UHTE Tal CI@,‘ I/ Will not be affected

65 . TTH aR YAl THAHeR & A197 71 aUHH SH B ST §, IR U Uaig o g/

In a hot wire anemometer, the measured temperature is reduced, and the relative flow

velocity is
A) §¢ SIIdl / increased B) ®H 63f SIdT / decreased
Q) @R ¥gdl / constant D) 31T‘c’ﬂ_5?f\_rﬂ?ﬂ/ reduced to half

66 . FfIRId & ¥ HH-91 g SHHAR W THIAN FSATSH BT IUTNT X UlaMgs! e
& fEomgT & I =8} fovar Srar 82 /
Which of the following components is NOT typically used in the design of a PID
controller using analogue devices?

A) Tfraratss yadfe (SfaReAd B) UfcRIY® / Resistors
TAHRR) / Operational amplifiers
Q) TTiea / Capacitors D) ﬁ@?ﬁw (ﬂ]’s{ﬁﬁ?ﬂ) / Microcontroller

67 . 39 JUITC! BT A1 Jarsy, fSaeT ST faggd Ygad UHR & gfaadl § il &f dd
W%%QWGTHT%I / Mention the system that is used to reduce oscillations in the
electrical indicating type instruments.

A) fagmor goredt / Deflecting system B) S{dig YUITeit / Damping system
C) fA=0T gurTedt / Controlling system D) 3{ch+1 YUTTcl / Marking System

68 . fAaferRad & T o19-1 ufthar fAa=u & 3ridd a=u1 Aie &1 T IeE0 87 /

Which one of the following is an example of a discontinuous control mode in process

control?
A) 39-3T0p i drg / B) 3MTUTfcieh =0T /g /
On-off control mode Proportional control mode
C) SCIUd Sheld HIS / D) FIdl =01 7Y /
Integral control mode Derivative control mode
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69 . A T 9gd 3= SgRT IR e X871 & Al U= A1 & oy IuT fhT ST aret fauma=
WG’W?@%H@% / The displacement sensors used for vibration measurement
are NOT suitable if the part is shaking at a very high frequency because:

A) ﬁwm:raga fYFH § / The displacement B) TR HH G / The displacement is low
is very high

@) éﬂaga 3HfYFH § / The velocity is very high D) %’TEEHW%/ The velocity is very low

70 . T Rt 1 fefored Rera # 9o & foae Fufefea & 3 fog Rua s
Tp-ilep T IUANT fopar ST 87 /

Which one of the following signal conditioning techniques is used to convert an

analogue signal into a digital signal?
A) EIH%/ Amplification B) ﬁ@iﬂ:{/ Filtering

C) A/D =UIdRUT / A/D conversion D) D/A =UIdRUT / D/A conversion

71 AR ol 943 § Ufehar FE=0 & ST & aR § FEfaRad § 9 SH-91 $YF 9 T8t
87 / Which one of the following statements is NOT true about the application of
process control in a solar power plant?

A) IR oIl G971 H ufshar FREm aR tai & B) Ufshan iz, IR ardig Iurge! & aTaaT

FH1d R NI B! FHRNTT HRb
Soll ITe Pl 3BT IR THhT gl /
Process control in a solar power plant can
optimize energy production by adjusting
the tilt and orientation of solar panels.

3TR GaTd B TR B 3R &l B
3{fEreeTH PR b feTT ST XATARUI &d i
YaTg &R bl GHIINT DI H HEG B
JHAT B / Process control can help
monitor the temperature and pressure of
the solar thermal collectors and adjust the
flow rate of the heat transfer fluid to
maximize efficiency.

C) Tifeha fE=0T &1 UGN 3a¢R & 3M3eYe D) AR ol G4z H Ufehan FRiAur smazaes gt

Jiece 3R Hlffafa s s for ¢ wife Rred o1 fam fad agd gwau
b3 ST Fehdl § diich Tg g fobar o & TAIAd U Y BH DI & oy {Seirg=
W%WW%Wﬁ@ a1 T 81 / Process control is not

A WIAT §1 / Process control can be used
to regulate the output voltage and
frequency of the inverter to ensure that
the power output matches the grid
requirements.

necessary in a solar power plant as the
system is designed to work automatically
without any external intervention.

72 . 3RUATA WﬁﬁTﬁﬁW@?ﬂ% / The full form of RLL is:

A) Trifea TR diforad / Relative Leader

Logics

¢) Rerer e arfoie / Relays Leader Logic

B) el TSI ©18R / Relay Logics Leader

D) Rt offex @IfoTad / Relay Leader Logics
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73 . Tiue & &3 o= § Afee te 7o fadwar g 8 /

PLC has many features but one main feature is:

A) TRNFAT AT TR BT & / Easy to modify B) TRMe T 81d1 8 / Flexible modification

C) TNTIT BT 3RIHT BT € / Impossible to D) TRNYF HRAT SIfed BIdT 8 / Hard to modify
modify

74 . T IUBRU g FSIhT SUGINT dTIHT HIv & forw 18 fhar smar g1 /

is a device NOT used to measure temperature.

A) YR / Thermometer B) yHipud / Thermocouple
C) BIRUMIER / Hygrometer D) Riferep 9 SIS / Silicon Diode

75 . 3 U U gl YRT I Gale?] W & Ue GaTd JT0 aTell SUHRUT § | SUHR0T Targ
DI 3R § 3R [ IR & ga-1 H = ga1d UgalR1S) § | &1 AT o7 X1 87 /
You have a pressure measuring tool in a flowing stream. The tool faces the flow and
reads higher pressure compared to the side. What is being measured?

A) $d qaTd/ B) UdTg TIfd </
Total pressure Flow speed pressure

C) 31 &9 qara/ D) |THI &aTa/
Average fluid pressure Normal pressure

76 . fAafoiRad & T ®19-91 Ue Ufpar fHT=01 Yuredt &7 Ue oy 3f9dd 82 /

Which of the following is an essential element of a process control system?
A) Tdh Wcﬁﬁ dled / A control valve B) Weh dIUHIA IR / A temperature sensor
C) T HIeR / A motor D) U R4 / A switch

77 . FofoRad & ¥ o19-91 Ue fooreh T893 & 3 YHRUT fREa0T (Bls-hiRds fu=u) &1

3aTERT 82 / Which of the following is an example of feed-forward control in a power

plant?

A) T T TR AT & SMYR WR 349-9-  B) Wemse! e &1 SUdiT dkeds Yeurae
IR SUTd BT JHRAIT AT / ST 3T & foIT S1ger gaTd &1 fafafid
Adjusting the fuel-to-air ratio based on AT / Regulating the boiler pressure to
flue gas oxygen measurements. maintain setpoint using a PID controller.

C) BISaS U BT TN HRb REARAH D) s AN H IRTcH ot Hfawraront AT iR
YIY YT & ! afd &1/ IRAd g I Ugd dGJaR S4+ UaT8 &Y
Controlling the steam flow rate to the DI U BT /
turbine using a feedback controller. Predicting the changes in load demand

and adjusting the fuel flow rate
accordingly before the change occurs.
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78 . T ffyd diuadt Afega # $7YC 3R 3¥eyc SR eda Sl 8dgl/

A fixed PLC module has input and output connections which is:

A) 8T / Fixed B) Ugd ¥ fAfffa/ Already constructed
O Uﬁﬁ?‘:ﬁ'{{/ Variable D) faffa :|'6°f/ Not constructed

79 . ol Tt B faqur-ofd faega & ! &Y H TATSA I/

The deformation-induced electric field in a material is known as

A) ﬁ?ﬁ[ STt a1 IH1d 3ol / strain energy B) mﬁ?{ga @Gﬁsﬁﬁﬁré}) / piezoelectricity
Q) ﬂﬂﬁé’@@/ thermal emf D) %qﬁ%@mﬂ/ defoelectricity

80 . T UICIRIHIeR BT YA & fore fewms fea mn g1/

A potentiometer is designed to measure .
A) @ / distance B) dlecel / voltage
C) faggd URT / current D) RIfdk (UTaR) / power

81 . dg SIS forgd! IUANTT NueHl & B Bt TR B3 3R AT TR &) fRufy &
IR druadt &1 7: =fdd w1 & foIe fosar SIaT 8: / The unit which is used to monitor

the functioning of PLC and reset PLC during abnormal malfunction conditions is:

A) TR HIS]d (GRIFHRH Aled) / B) $¢XWh ¥ HISYd / Interface module
Communication module
C) I AT / CPU module D) ardSIT eI HiS /

Watchdog timer module

82 . Fuffad & ¥ SH-91 e Ufehan = yumredt o1 Rigid 872 /

Which one of the following is a principle of a process control system?

A)ﬁwﬁmmmﬁq&mwﬁ B)Wﬂﬁmﬁr{hﬂﬁ:ﬁu?wmﬁa

ranferd foman ST anfeel / wfdfebar <t =fen /
The system must be operated manually by  The system must react to changes in the
a human operator. process as quickly as possible.

C) Uforar | fasdt +t Sgard o1 tRarg fae faA1 D) ufdhan $i3eye &1 qamiford e & fag
R &1 T fAfdd RuiRd g e e Ried &1 wigd® UeM &A1 a1kt /
18U / The system must maintain a fixed  The system must provide feedback to
set point regardless of any changes in the adjust the process output.
process.
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83 . fFufafad § I SH-31 fua) &1 fawdid U 8: / The abbreviation of PLC is given as:

A) T ST dheld / B) M RId qltoldh Hfe /
Programming Logic Control Professional Logic Computing
C) TR dlold HIER / D) TRITHEd Alold dhelaR /
Programmable Logic Computer Programmable Logic Controller
84 . fafmior Sufat & forg $qe-sm3eye ua BRI/
The input-output address will be for Manufacturing Companies.
A) JHI, HHIH / same, same B) HHIH, -3 / same, different
C) S-S, JHIA / different, same D) 3{A-3HeI T, HAT-3{cT / different,
different

85 . TR IT & TN TTISTIR &1 99 AHES gl /

The selection criteria of the transducer for operating range is
A) HEH / medium B) BIeT / small
C) d81/ large D) Y& / infinitesimal

86 . 519 UATAR0T § AIYH URafid 8idl 5, dl dI®Ig (UHGTa) o uftac o daaf o
3G ITF HIAT &1 / When the temperature gets changed in the environment, the
thermocouple generates output in terms of change in:

A) 9¢gddTe® §d (SUAUW) / EMF B) faggd RT / Current

Q) foRITo= / Displacement D) §d / Force

87 . 98 JUHRT o7l TR-fagyd Aruc st & grqed faggd Wik # uRkafdd & g a8 g1/

The device which converts non-electrical parameters into equivalent electrical quantity
is

A) Tatfeh (TREHIR) / amplifier B) e (fheey) / filter
C) TRISYIR / transducer D) fdIWR / clipper

88 . AU o T fpge! ggrar ¥ giffe fawrms & uferiy & ulkad & ulkafda far o gear

8: / The mechanical displacement can be transformed into a change in resistance with

the help of:
A) TTERIHIER / Pyrometer B) AT UfeRIee (UfHeR) / Thermistor
C) Tadreret / LVDT D) fafd AU (¢ 719) / Strain gauge
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89 . TddISlct & oIt S48 T HIF-TT1 g A&l 82 / For an LVDT, which of these is NOT true?

A) Tfe HR Jatc sl g A efd ddls  B) XRAP MITYS / Linear output
SIRaH 781 8 / No risk of damage if the

core movement is excessive

C) T LI TNl Fifs HR o &b YUb D) ST TS & Try Ht 39k &1 e -Tg1 /

e Virtually zero friction as core is No need of an inverter even with DC
not in contact with the coll supply
90. Hidhe HTdt I arelt 4ifde J1E $I dees H uRafid e Iad g1 /
circuits can convert the physical quantity to be measured into voltage.
A) UfcRIY / Resistance B) TEIeeH / Wheatstone
C) GYTRA / Capacitive D) fsist / Bridge

91 . TIERT yftfed o ufaRiy &1 dTqHT T[UTe BT gl /

NTC Thermistors have temperature coefficient of the resistance.
A) BUITHDP / negative B) YdIHD / positive
C) fgara/ quadratic D) f¢Ug / binomial

92 . TASIR &I §HTd! a=aahdl &1 39Ye-33eYe f[aRIvdTg 4 gt afes: /

The input-output characteristics of the basic requirement of transducer should be:

A)W/ Linear B) fguelta / Bilateral
Q) 315\’%/ Non linear D) AT / Unsymmetrical

93 . Ylams S} iz o1 RIMTdRUI &1 R 82 /

What is the transfer function of a PID controller?
A) Kp B) Kiss
O) Kas D) Kp + Kiss + Kas

94 . T UfehdT =0T (e SO-RR T ik o1 fa=awur & 6T § 3R 39 i fovar
2 5 UfpaT 5 Yobs &1 FSHT T 3R 10 Vs $1 I RRT® §1 Ufar & ar &
fFaffed # ¥ PH-TTHUTTT 82/ A process control engineer is analysing a process
and has determined that the process has a dead time of 5 seconds and a time constant
of 10 seconds. Which one of the following statements about the process is TRUE?

A SHUpaT H dig ufafrar gma giaigl;  B) 39 ufshan ® ufafeear v i giar g1 /

The process has a fast response time. The process has a slow response time.
C) 39 Wifshan 9 §gd 3% ey BT g1/ D) 39 Ufshd ¥ 0 aH BT 81 /
The process has a high gain. The process has a low gain.
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95. Yiolzafdes TiIeER & IaTaH & U dile! Al &1 /

is NOT a mode of operation of piezoelectric transducers.
A) SIHI Fcd) / Bulk B) 3JURI / Transverse
O GF\],%?!JC/ Longitudinal D) {Ux=4uT @R / Shear

96 . TEH-ssalt Hiuad! # dH gRT ugam T8 fafte AR SREAe g1 /

Allen — Bradley PLCs have different memory structures identified by the team.
A) 4 B) 5
Q7 D) 2

97. TS UdAll IR A1 USI & FY H U YdTEH 1 Argist giclt & Sl I Il & Aotaeit
AFS SN REE_ SIyaramr S g /

A consists of a conducting material in the form of a thin wire or strip which is
attached firmly to the material in which is detected.

A) Tfdee JETd, ﬁ?ﬁl/ stress gauge, strain  B) gfdsel T4, Uided / stress gauge, stress
@) ﬁ?ﬁfrﬁcﬁ ﬁ?ﬁ/ strain gauge, strain D) ﬁ?ﬁlrﬁcﬁ Ufded / strain gauge, stress

98 . |el M gT| / Choose the CORRECT pair.
A) TTSRIHIER: dToHH / B) TUTgRIHICR: fafdsur dtaar /

Pyrometer: Temperature Pyrometer: Radiation intensity

@) Clléilﬁ cX: ald / Pyrometer: Pressure D) Clléilﬂlat ddl / Pyrometer: Force

99 . Frufafed & 9 fara Ig &1 wanT g ufeRly &1 A9 o for fovam o wehdn 82 /

Which of the following bridges can be used to measure low resistance?

A) @?—@?%/Wheat—stone bridge B) ohfed &I |§@I§ / Kelvin's double bridge
C) USRI @ﬂ/Anderson bridge D) ]I @ﬂ/ Schering bridge

100 . U8 =0 ¥ AU IH & UeH H faggd urad & A1uH & e Tgad gooRey (TATa )
gfdd & UHR B I DIl | /
Choose the type of analogue instrument that is used to read the electrical parameter
in terms of instantaneous value directly.

A) siftered (Repifem) gfad / B) T (SfSabic) gk /
Recording type instrument Indicating type instrument
C) fiexeum diex / Histogram meter D) ﬁl@&frﬂﬂ'ﬁ%/

Absolute type instrument
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101 . tuadt &1 9uH AR B TR PRATR 1 /

The program of PLC is to store memory.
A) 3RR / volatile B) TRIHM / visible
C) R / non-volatile D) 3{€]Y / non-visible

102 . B I BT IuanT Fafered & ¥ forg Iusor & far s g2 /

A wheatstone bridge is used in which one of the following devices?
A) TASIdLd. / LDVT B) TA .Sl / HET
C) 3RS /RTD D) UICRIAIHICR / Potentiometer

103 . FEfaRad & § $H-I1 $R-g™d U A1 &1 9 -8l 67 /

Which of the following is NOT a component of computer-aided measurements?

A) TRISYIR / Transducer B) e St wfdhe /
Signal conditioning circuit
C) fewat / Display D) ¥¥R / Sensor

104 . gHY fG=01 JoTTelt (@ifsie dheld HIs) &1 82 / What is composite control mode?
A) T =07 Yol it had T a0 B) Ueh =01 yuIrell Sl &l A ar @

IRTIeR BT ST HRAT 3| / 31fRres Fei=ror yomelt @l ST 71/
A control mode that uses only one A control mode that combines two
control parameter. or more control modes.

C) U v yurell ol Ried si¥eye &l D) T =0 yurelt ford e Hovd &
TR 6 & [OTT BIed®d HTSWIRT  Wcld T10 ST SaRIDhdT Tal gl ol /
FRAT ]| / A control mode that uses A control mode that does not require
feedback to adjust the system output. accurate measurement of the error signal.

105 . Id-aall Gaadl YR & faggd Urad & A1 gd Ygad gl g | /

Moving coil instruments are used to measure electrical parameters of the form:

A) Had e uRT (S SR dieear / B) T YRT () SR faF o1 (E1ef) ok
DC current and voltage only dieedl / AC and DC current and voltage
C) Had TG YR (@) SR dreed / D) SfebTa Hopd (Fefored R /
AC current and voltage only Digital signals
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106 . YIueRft & TOR Hiegd & Al 8l & /

The need for a communication module of PLC is:

A) TR gfakaat 3R diuerdl & sita Rvret B) UTTert & THebdll bl d¢M & forw /
RIHIIRT B & ferg / Transferring To amplify the signals of PLC

signals between peripherals and PLC

C) 3IFY Hohd Pl 3Dy Yobal HuRafdd D) fay yrT Sl 31 ey oy (&S
& & U / To convert analogue into tlﬁﬂﬁﬁﬁﬁ%ﬁﬂ/

digital signals To convert DC into DC

107 . Tt forel & Jaap1a SR o1 IuanT g & s & fore fasan sran &: /

In A.C bridges, magnetic screening is used to avoid:

A) YRT & UHTT ¥ / Effect of current B) fsioT TR ST o7+ & GHTa & /
Effect of rusting on bridges
C) YIS (M F gua J / D) YT 3T Jad 1 &F & YT I /
Effect of earthing Stray effect of the magnetic field

108 . FAgfefad & § HH-T1 AW 8051 AHIGHIIGR B R 0 & I (813) 915 H 58H A
A€ PHM? / Which of the following instructions will load the value 58H into the high
byte of timer 0 in 8051 microcontrollers?

A) MOV THO, 58H B) MOV THO, #58H
C) MOV TLO, #58H D) MOV TLO, 58H

109 . fordlt IUHRUN Bl YT FA H fahadr & IRUMRGEY T FRaR I gFft STt 58 A arat
HIT 1 g § ©1e A1 Y {3 T e Ayl 8| fhy usR @Y A Bt 87 /
Failure to zero a device will result in a constant error that is more significant for smaller
measured values than for larger ones. What type of error occurs?

A) W IR (SIRT HHRC) / B) GWTHFTEI%/ Calibration error
Zero offset
Q) Id faRITIA / Instrument drift D) PR (%Qﬁ?ﬁﬂ) _a'f% / Hysteresis error

110 . 8085 HTSHIURIR Bt AURT St & fafofed & 9 &H-1 tey ars &l fEars
foa1 ST A1f@T? / Which of the following address lines must be decoded in memory
interfacing of the 8085 microprocessors?

A) AO-A3 B) A4-A7
C) A8-A11 D) A12-A15
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111 . gTud ®x fob fear mar Yo, Soif a1 Wik b1 Hbd gl /

Verify whether the given signal is energy or power signal.
x(n) = u(n) - u(n-6)

A) b B FHoll 6 9d § SR X 0 g B) Tdhd & Holt 0 I § SR Xk 0 &
SHIIT, I8 T SHoll Abd g1 / The energy SN, TS A ol Spoll Hobd & IR 7 81 Wl
of the signal is 6 joule and power is 0. So, Thd g1/ The energy of the signal is 0
it is an energy signal. joule and power is 0. So, it is neither an

energy signal nor power signal.

C) Trd BI Sl 3 [ & SR AfF 0 B D) drd Bt It 0 8 SR W 12 B Zferg,
mﬁ,%@mm%l/me energy WWW&TW%I/TM energy of the
of the signal is 3 joule and power is 0. So, signal is 0 and poweris 12. So, itis a
it is an energy signal. power signal.

112 . {59 YR & yargardt § 98 &3 giar & e mem 9 54 vare &1 uRad==ia s-m

SIA1 82 / In which type of flowmeter is the area through which the fluid flow is made

variable?
A) %_S’E'IE'C[ Hiex / Head type meter B) gRad- aﬂEIEI'IBTITlﬂ/
Variable area flowmeter
C) faggd Irasig yargardt / D) TR Wargddl / Ultrasonic flowmeter

Electromagnetic flowmeter

113 . U FAfYd TH 3R §3fagy & 3ier Acad W Wol S Y- aTdl ST & JE SgH & forg
g IUBUT BT IUART foaT ST %? / Which device is used to increase the amount of
the data that can be sent over the network within a certain amount of time and

bandwidth?
A) Had TR / Mux only B) hhad fSHaRT / Demux only
C) Had [Geg-TIg / Flip-flops only D) I T4t / All of these

114 . TRTATG! (IRICRIHCR) Pt MghRi ufaferd o1 98k S & fo1e 9 de-ie &I ar] fear
ST §: / The technique applied to improve the frequency response of the
accelerometer is by:

A) TSR H SHTRIET 3rghi 1 Aar &1 B) U &I WANT / Introducing vibrations
dcdHT / Altering the range of operating
frequency in the instrument

C) UG H ! & TR ! gl / Altering D) @Tﬁiﬁm/ Removing noise

the level of damping in the instrument
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115 . TSR (BIs5e U ¥19) fheex & 3imaw ufafear A9 gRT U &1 51 gbal

8:/ The impulse response of FIR (Finite Impulse Response) filter can be obtained by:

A) freeR Tuiienl & A1y 379e Rua &1 daad B) 379e Rwra 3R flheex T[0T &1 Uedes

(h-1deXR[F) / Convolution of input signal 0T / Direct multiplication of input
with filter coefficients signal and filter coefficients

C) 3ngfi wfaforar wie &1 fa=eiyor / D) fiheer & Y 3R I SIHYUM / Finding
Analysing the frequency response plot the poles and zeros of the filter

116 . DIF-1 TR-HUdh IUHRUT A aTel fS%H I1 IMUE BT Adg TR THH g3l ard FH=I1 &
?!GRel T I AT UdT Bl 82 / Which non-contact instrument senses the passage of
equally spaced marks on the surface of a rotating disc or shaft?

A) 3ffaeafd das (&E:I@ﬁﬁ@ﬂ?) / B) %@W%ﬁtﬂa/ Digital tachometer

Ultrasonic sensor

C) gfaid A Hhddh (SehiHcd MU D) IR 3P dHad / Fiber optic cables
$ﬂ$|3€) / Incremental shaft encoders

117 . 9 & fob T oA H ST g7 aTel okd Uard €| U Wik J1Y dah-iidh Bl Joid o
Sl %9 g H URTTH B IR & P Gld IRl Sals HIY D ST I8l 51 /
Assume that a vessel has an unpredictable density liquid. Suggest a level measurement
technology that maintains the vessel's precise liquid height measurement as the fluid
density changes.

A) WRIeaH® (\’dﬁ;@ﬁiﬁ) / Ultrasonic B) R R ISR / Guided-wave radar

C) <9Td 3IdR Uu& ((SHIRE IR D) Wl 3R U / Float and tape
SIgHICR) / Differential pressure

transmitter

118 . HH-I1 UHRI-fIggd URHIEE, Fad fafe=or dad & Surd & 33y diecs Iad
1 8? / Which photo-electric transducer produces an output voltage only in
proportional to the radiation intensity?

A) THT IToich TR / B) UBTY TP URSHIH /
Photoemissive transducer Photoconductive transducer

C) UPTRI Qe 19 URSHTHA / D) 214 IgYd URSH I /
Photovoltaic transducer Piezoelectric transducer
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119 . fordlt NPN TifSReR T1 &, af Hoiaer IR 3o dieedl 3R o9 TR &Y diecsl T SfTdl §
A T1 P SMYUR I WY (GF-TfHeR Siawm) &t Rufd g2 /

In an NPN transistor T1, if a high voltage is applied to the collector and low voltage to
the base then, what is the condition of the Base-Emitter junction of T1?

A) famId 3Ifid / Reverse biased B) 3U 3T / Forward biased
@) ?EFT@[T{J,ST_Q’GH/ Connected to neutral D) Vcc @\_{J,ST_§’31T/ Connected to Vcc

120 . S8-d¢ xR GRT AHYHdH fHaT SaTd AIUT Sl JobdT 87 /

What is the maximum pressure that can be measured by a deadweight tester?
A) 1000 §IR / 1000 bar B) 7000 §IR / 7000 bar
C) 5000 @R / 5000 bar D) 3000 §R / 3000 bar

121 . 3T TOR 3y H 61 Tl o1 IUANT foban STl 82 /

Which signals are used in the data communication application?

A) FradeTieres fSfored debd / B) 31 adbIieres fSored Havd /
Periodic digital signal Aperiodic digital signal

C) fradepIfeies THTENT Hobd / D) SiFadbIere THTANT Hobd /
Periodic analog signal Aperiodic analog signal

122 . 39 GHIDHRUT B UG HIFIT Sl YTRA diecsl HISieh Y BT FUINT HRop TR AIY Dl
Ry HRar g1 / |dentify the equation that defines the level measurement using
capacitive voltage divider method.

A) EO = [C1/ (C1 - C2)] Ei B) EO = [C1/ (C1 + C2)] Ei
C)EO0O =[C2/(CT1-C2)]Ei D) EO = [C2 / (C1 + C2)] Ei

123 . fFgfafaa e @ Aufed B & a1e IoReR A HTHe FT]? /

What are the contents of register A after executing the following instructions?
MVIA32H MVIB48H ADDB OUTO01H HLT

A) 45H B) 90H
C) 80H D) 60H
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124 . & G1-qU VIR BT Gjw) H K &7 AF ded foar oirar g, af s uRHm wie &
1 URadH gRT? / If the value of K is changed in the open-loop transfer function G(jw),
then what will be the change that took place in the Bode magnitude plot?

A) dead U J T BT 3R fRoe g1/ B) &fasl TU A TS 3R & WIMT/

Shift vertically down Move horizontally to the right
C) &fiel ¥u I 915 3R o &1/ D) didad ¥U Y SR T il e g1/
Move horizontally to left Shift vertically up or down

125 . g dlfcieT & Tt 11" B HaR HRA & (o8 H-rg A § Tt I &1 TgIdhd H &
fore for Wreg o1 IUTINT faat ST 87 / What is the term used for grouping cellsin a

Karnaugh map to cover all 1's in a truth table?
A) 3TdRYdh HHg / Essential grouping B) UTuflies YHe / Prime grouping
C) dglUlad g (3%1% QIEI'JI) / D) ﬁl?ﬁﬂ_iﬁ‘l / Minterm grouping

Implicant grouping

126 . SATEH-FIRIT YuMferdl R prafaa & deH # S3MgeiR Ewiesc Sucd i)
WWH@WHW%? / What is the main advantage of IIR (Infinite Impulse
Response) filters in terms of implementation on resource-constrained systems?

A) 3% THIMESR ftheex Bt ga-1 § &H B) 3 UfHTUiERur Ffeat ¥ uferféa €1 /
Waﬁ TIRIHAT gl g1 / They require  They are immune to quantization errors.
fewer coefficients compared to FIR filters.

C) 38 THMIGR TR ddb-id] Bl ST D) THSMEAR fheex B gal § S9! faaad!
TP HIad [HaT ST BT g1 / They can A BIAT 81/ They have lower latency
be implemented using parallel processing compared to FIR filters.
techniques.

127 . JME3MMSIAHR FHEAEC SU =) fiheex & fow Fufofd A @ oH-ara@ 87/

Which of the following is TRUE for IIR (Infinite Impulse Response) filters?

A) S®! UfshaT TRTAT &b HRUISHI Th  B) 3 GHRN FRR G & IR I (R S e B
gffira 3mam ufafear grdft 81/ Wﬁ@?ﬂ%l/meyarealways
They have a finite impulse response due stable and do not require stability checks.
to their feedback structure.

C) T YA J-T ¥U I IAH TROT D) GTHRUI U (B1S eI U) & HRUI IFH
foree T Sy & forg frar ST 81 / 3T 33T wfafsaTd 81 govat ] 1 /

They are primarily used for linear phase They can have infinite impulse responses
filtering applications. due to feedback loops.
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128 . afe TRATARE Ty, e 3R Siagayul § 3R fagyga srawma ot gifesd §, d dieftef &1
IYINT RSP b UPR BT Yobd I (b1 SIIdT 87 /

If the transmission path is long and noisy and also the electrical isolation is desired,
then which type of signal is generated using VCO?

A) S&Id Yohd / Duplex signal B) f&fSTed Tahd / Digital signal
C) THTANT Habd / Analog signal D) HRIR Fhd / Carrier signal

129 . U &1 RIS, TR &4 SfQT-3{THT &l BT A doi 10.00 fHaAUH 81 TS A9 DI AFD
& GHHM & Y 31 7.32 fparum &t ST v Bl 81 31U T 1AM T 872 /
Ten different apples weigh a standard mass of 10.00 kg on the same balance. Each
apple obtains a reading of exactly 7.32 kg for the mass of the standard. What do you

infer?
A) aHI S IR Wy Bl / B) T ©, a1 gufyar Mufia e &t o
Both accurate and precise Tl g1 / Accurate, but the precision
cannot be determined
C) Il §, AT gufu gt g1/ D) Uiy g, AferT Tet A& g1/
Accurate, but not precise Precise but not accurate

130 . 39T & AT H, HH-TT HRE U aldd & e HICS fshecd 1 foheed Mg
fAufRa Harg? /I frequency measurement, which factor determines the crystal
frequency of a quartz crystal inside an oscillator?

A) fohed IR qroHH &1 9HTd / B) foheed o XTTATeh TuTe /
Temperature effect on the crystal Chemical properties of crystal
C) Ugad foheed & ifde S SIRUSR / D) UGRH dieed! (AW dlecs) /
Physical dimensions and type of crystal Supply voltage
used

131 . 3l A Rd Ye1d & TR &) AU & oY {59 URSPH Il Tis@R &1 Suai &l
Sdhfad Ricfexl & ¥ # fora1 91ar 87 (Th IR-IA1ad &4, SFATad yard §91di 8) /
Which transducer is used in the form of two concentric cylinders for measuring the
level of fluids in tanks? (A nonconducting fluid forms the dielectric material)

A) UfaRIY® / Resistive B) TTRA (HURYER) / Capacitive
C) uRad-1a SfaTes faRiT / D) faves Tt ( fSmiRma Fufdfea) /
Variable dielectric displacement Differential capacitive
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132 . U Afehe S Rud &1 S1afi 1 119 3R UG Rid a5 Aol §, 98 Heardl o: /

A circuit that can measure and display the frequency of the signal is:
A) flrerdt Brdex / Frequency counter B) SIM¥H 3R / Johnson counter
Q) TS PR / BCD counter D) sqﬁﬁaﬂéqfﬁ/ None of these

133 . FRR YRT & YA & 1Y FUTRA DT 1A= (@IforT) SR fageH (FSwfsim & R
5T UHR B a1 3T gidl 82 / Which type of waveform is generated due to the
charging and discharging of the capacitor with the application of constant current?

A) 3MIATPR TRIT / Rectangular wave B) ST T / Sine wave
C) PR AT/ Square wave D) B 1ofla @1 / Triangular wave

134 . THh TR HaRH Acad & oY, Sif 2.5 fordiare 1 UIaR quT TaR hae 0.8 BT SUHN
HRAT 8, 230 dlee, 60 B DI MMYfd dlees! WR TAF Haal Bt A8 YRT J1d BT /
For a star connection network, consuming the power of 2.5 kW and power factor 0.8,
find the line current of each coil at a supply voltage of 230 volts, 60 Hz.

A) 7.84 A B) 8.02 A
C) 10.05A D)74A

135 . CRO  forarerd Oed &a Uabe gidie? /

In a CRO, when does the Lissajous pattern appear?

A) X-X 3R Y-Y Wel IR Uh Wb bd  B) X-X 3R Y-Y Wel WR & 91 a¥1 Hobd BT

TR HRd 99T | / When applying one TR HRd 99T | / When applying two
sinusoidal signal to X-X and Y-Y plates. square wave signals to X-X and Y-Y plates.
Q) X-Y 3R Y-Y Wil R & SEhI Ibd BT D) X-X 3R Y-Y Wl W &l SAaeh i Gavd B
TINT Rd 9T | / When applying two TR HRd 99T | / When applying two
sinusoidal signals to X-Y and Y-Y plates. sinusoidal signals to X-X and Y-Y plates.

136 . MI Hiex § Uefe T & W H fbd UpR 1 e Bt 82/

Which type of error occurs as a value of flux density in Ml meter?
A) feweflig ﬁ[%/ Hysteresis error B) dT9HIq ﬁ%/ Temperature error
C) 3M1qfxl ¢ / Frequency error D) 3fdifesd aDIT &3 / Stray magnetic field

137 .A(SH-2 FFT GRT DFT & SHfHber T RN o] T-HT 8 B o 1o x (n) H fobd= 79 g1

1feT? / How many samples must x (n) have for the number of stages in the
computation of the DFT by radix-2 FFT to be 8?

A) 256 B) 128
C) 512 D) 8
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138 . TH 3SR (BI38e U REui-g) 9 & fo S SIrar & /

FIR (Finite Impulse Response) are known for their:

A) TR OTRT (B qU) / B) TR YW1 =R wfafesar /
Feedback loops Nonlinear phase response

C) R IR Y =R fawamd / D) 3f<idl 3MTaT Ufdifshan (SWTgge SUcH
Stability and linear phase characteristics R=g1=) / Infinite impulse response

139 . 39 URETeH yadd URTY &1 UgdM HIoTE Sl Y SAfaaiTd §-7Y¢ dlees] Bl G@Tar
3R TP 3MT3TYC dlecs RIUd Sdd BT Sl <1+ S{eH-3{eT AT Td $AYE alees V1, V2
3R V3 & SISO "anT & SFIad H g1/

Identify the operational amplifier circuit that will amplify each individual input voltage
and produce an output voltage signal that is proportional to the algebraic “SUM" of
the three individual input voltages V1, V2, and V3.

A) 3é|a32 / Integrator B) BJFRUH%W/ Difference amplifier
C) diceS TioTdh/IIHT 3 / D) AUIS Uatid / Logarithmic amplifier

Voltage adder/Summing inverter

140 . U 2 x 2 HUY AR, fha= TRl B HRNG BHR JhdT 87 /

How many variables can a 2 x 2 Karnaugh map accommodate?
A) 2 dX / 2 variables B) 3 dX / 3 variables
C) 4 I / 4 variables D) 5 dX / 5 variables

141 . T yrT uRkade @ fgdiae aEfen, uufie aEfEn & afeg g1 R iu-gfdbe o9

Bt 87 / When does the secondary winding of a current transformer is open circuited
with primary winding energized?

A) TqUT TTfie YRT, HR H UG Bt 9ol HET B) Od 98 991 9 $I gel a1 SidT & Ot a8
mm%m@wmﬁw 3ARY Jedhd T UH BIcT A BIS <l
qd3l dlees A BT 81 / The whole of the &1/ When the large magnetizing force is
primary current produces large value of taken off it leaves a small value of residual
flux in the core thereby producing a large magnetism.
voltage in the secondary winding.

C) Tyl Tnfies 4RT, HR T e &1 T BieT D) Wfld 3R 9gd BT YRT yaTied it g1 /
mmmﬁ%ﬁa@r@eﬂwa@%ﬂﬁ A very small current flows on the primary
T BIel decs I gl gl / side.

The whole of the primary current
produces a small value of flux in the core
thereby producing a small voltage in the
secondary winding.
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142 qu%l'q:[tb_(“l:f (x+y) (X +2) (y+2) W%W% /

The Boolean function (x+y) (X" +z) (y+z) is equal to:
A) (x+y) (y+2) B) (x+2z) (y+2)
C) (x+y) (X +2) D) (x+2z) (x+2)

143 . AMRIMEIIR (FABIZARE SUR ST~ fheex &1 HH T I 3UH! gy ufaferar va
gu1fad gl 82 / How does increasing the order of an IIR (Infinite Impulse Response)
filter affect its frequency response?

A) U8 UNSS B AT Rl g IR LIUdS  B) U8 USSPl Yob10f HRdl § 3R WIdes Bl

D! Y10 HIAT 81 / It widens the Eﬁ%ﬁb‘%‘cﬂ%l / It narrows the passband
passband and narrows the stopband. and widens the stopband.

C) Tg gt 3gfrdl R ek dT Ay dgral D) Ig MgfT Ufdfehar ol guIfdd =gt el
81/ It increases the filter's gain at all 81/ It does not affect the frequency
frequencies. response.

144 . F-%S uRgy H afe fF 309 diees Sits &I1d §, 4l T 3M3ege I4d g2 /
In a three-phase circuit, if three generated voltages are added, then what output will
be generated?

A) A / Three B) [ / Zero
C) 3d / Infinity D) Th / One

145 . URUY f&STgd ¥ fohd YR & & fevaRT (MRS AdehrR) &1 SudiT fasar Sirar

87 / How many types of precision rectifiers are used in the circuit design?
A) 1 B) 3
Q2 D) 4

146 . UTeRIY &1 A0 3 fog TSt &1 SR Svdl T, 3y g ufeRie 0 &1 &l avffged

HRA 87 / When using a bridge to measure resistance, how do you classify the low
resistance value?

A) 1 31 & %Y & STAR / Order of 1 ohm  B) 1 3 3R 0.1 M 3T & dfa /

Between 1 ohm and 0.1 M ohm

C) 0.1 M 31 & 3fees / D) 1 3 3R 1 k A & o/
Higher than 0.1 M ohm Between 1 ohm and 1 k ohm
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147 . 919 TR Thaex Hiex &1 Widhe ¥ gel faar Srar 8, @ 821 & qRd d1¢ Uiaex 391 fufa o

a1 8| 7 / When power factor meters are disconnected from a circuit, the pointer
remains in the same position at the instant of disconnection. Why?

A) UTR Thaer Hier, &) fausia ol gRT B) UTaR thaex Hier, &t faRieht 5l g1
AR R G ke 9 S gid g1 / AR R G ke ¥ Srigfad gid gl /

Power factor meters are perfectly Power factor meters are perfectly
balanced at equilibrium by two opposing unbalanced at equilibrium by two
force. opposing force.

C) UTeR haex Hlex, A NER AR GAF TA D) UTeR haex HIex, & 37cT- 31T §ai gRT
GRITHART R I REIIIAIITE]/ THUaRIT R T R I Aferd gid gl /

Power factor meters are perfectly Power factor meters are perfectly
balanced at equilibrium by two equal and balanced at equilibrium by two different
same force. force.

148 . Tereldiel § forat urufires iR fecfiues pusfemi Ao gt 82 /

How many primary and secondary coils are present in an LVDT?

A) 1 T HuSel R 2 fedlad Ppusell /  B) 1 Uufie Pusd $iR 1 fgdias pusd /

1 primary coil and 2 secondary coils 1 primary coil and 1 secondary coil
C) 2 Uil Fuse 3R 2 fgciad pusdt/ D) 2 Uiufiie Husal $iR 1 fgdia® gusd/
2 primary coils and 2 secondary coils 2 primary coils and 1 secondary coil

149 . RIS H AUHH [Ureb T UpTa 1 Bt 872 /

What is the nature of temperature coefficient in RTD?

A) YdTHD / Positive B) BUMMHD / Negative
C) AR dedl Xedl %I / D) ddIR Ycdl SldI %l /
Constantly rises Constantly decreases

150 . §fora diorTiord & aiied | @Smice 1) & Fioid A * A TR Tgdd &3 &1
UfRUITH &1 81T 82 / What is the result of applying the Idempotent Law in Boolean
algebra to the expression A * A?

A)A B) A+A
o0 D) 1
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[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question

Booklet and the Answer Sheet before commencement of the test.

2. The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.

4. This booklet contains 36 Pages. Please check for completeness of the Question
Booklet immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be
marked on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely,
corresponding to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read
such marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once
darkened cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet
will be provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be
disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator.
Use your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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Question No

Answer keys

Question No

Answer keys

Question No

Answer keys

1 A 51 C 101 C
2 C 52 C 102 C
3 C 53 D 103 C
4 B 54 C 104 B
5 A 55 B 105 A
6 D 56 A 106 A
7 A 57 C 107 D
8 A 58 C 108 B
9 B 59 B 109 A
10 B 60 A 110 D
11 A 61 B 111 A
12 A 62 A 112 B
13 D 63 C 113 A
14 C 64 A 114 C
15 C 65 A 115 A
16 A 66 D 116 B
17 D 67 B 117 C
18 D 68 A 118 C
19 B 69 B 119 A
20 D 70 C 120 B
21 A 71 D 121 B
22 B 72 D 122 B
23 B 73 A 123 C
24 D 74 D 124 D
25 D 75 A 125 D
26 B 76 B 126 A
27 A 77 D 127 D
28 B 78 B 128 B
29 B 79 B 129 D
30 D 80 B 130 C
31 A 81 D 131 C
32 D 82 D 132 A
33 C 83 D 133 D
34 C 84 D 134 A
35 B 85 A 135 D
36 A 86 A 136 A
37 B 87 C 137 A
38 B 88 D 138 C
39 A 89 D 139 C
40 A 920 D 140 A
41 D 91 A 141 A
42 C 92 A 142 C
43 A 93 D 143 B
44 C 94 B 144 B
45 B 95 A 145 C
46 A 96 D 146 A
47 D 97 C 147 A
48 A 98 A 148 A
49 C 99 B 149 A
50 C 100 B 150 A
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